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L2 
Revision Test A     AS 2.2      Name:_______________________

(Achieve)
Sketch these graphs
Mark intercepts, axis of symmetry, and the coordinates of the maxima or minima
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(Merit)
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4) Write down the equation for these graphs (in factorised form)



y = 






y = 

L2 
Revision Test B     AS 2.2      Name:_______________________

(Achieve)

Sketch these graphs.  Mark any intercepts, asymptotes, or important points
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(Merit)

4) Write down the equation for these graphs










Equation:





Equation:

5) Sketch the graph. 

Mark any intercepts 
and asymptotes
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L2 
Revision Test C     AS 2.2      Name:_______________________

(Merit)

1) Write down the equation for these graphs


y = 






y = 

(Excellence)

2)  Show that the line y = 2x – 3 is a tangent to the circle (x – 4)2 + y2 = 5 

     Give the coordinates of the point of contact 

3)  Find the coordinates of the point(s) of intersection between the line 
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